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Phys 221 (Section 8)
Quiz #5

1. A uniform thin rod of length £ and mass 1.0 kg is
mounted on a frictionless axle attached to the rod at a
distance L L from one of its ends and allowed to make small
oscillations in a vertical plane, as diagrammed here,

a) The period of escillation is found to be 1.53 5. What is
the length L of the rad?
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b} If & simple pendulum is to have the same period, what et ¥ e WS A
must be the length of that simple pendulum?
Fv a gimple pandalon
T = im _ i 1..!._3:- ,ﬂjqn.; T =88 % Swlee for Lot Bateis:
b | ' 2
parisd
L -1 (.53 192 )
-+t = Yt = = g =2 =y = 5
¥ S - e q e = rﬂ--ﬂ'-- .
- = (5%, lien
2. A wave function is given by: i —d
y= (4.0 mm)cos [(20 m™ ')z — (3.0s7 )] .
a) Find the wavelength A and the speed v of the wave.
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b} Write down a suitable wavefunction for a harmonic wave which has all of the following properties (in

comparison with the wave given above):
s Half the amplitude.
e The same wavelength but twice the wave speed.
s The opposite direction of wave motion.
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Formulae for pendula: w= f}i = Illmfd
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Mom. of In. of rod about CM:  Jeym = i'iML’
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